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Hof #AEMH A - s AE P S 2 g .
ll\?}o .c i Al B | W% HH J i JiE e i{lJ<1?1:) M A( kh;{n!)'nf Adif
1 1084 4| 17 16| 34 R A L 31] 55600 130| 21.40 5.0 33 18.9 25
2 1984 8| 7| 4] o LM 3 b 321 23.00] 132 9.0 33.0 7.1 195.1 23
3 1984 8 15| 3| 30 1=.wqun|;:u1u§ 31| 32.80] 130| 3.80 13.0 5.5 34.0 24
4 1987 4| 28] 3| 30 T F o3 32 3500 130]  2.80 12.7] 42 99.8 25
5 1992 11| 9| 17 39 H Inl.“Y:t[ 32 9.50] 131 3840 57.6] 4.6 141.7 20
6 1992] 11| 29 15| 21 P i 1 e 0 5970 129 7.60 5.0 5.0 137.3 25
7 1993 4| 20| 5[ 30 B U R L b G 32 0.50]  130] 1210 12.0 33 19.5 22
8 19931 7[ 7| 221 9 Pk AL 32| 23.60] 131 28.60 82.8 4.7 136.4 18
9 19931 8] 2| 12 13 Fo B K e T 300 44.80  131| 30.10 42.0 5.6 173.5 20
10 1993] 10| 13| 18| 34 I e T A b 32 0.00] 130| 11.90 17.1 3.1 18.5 19
11 1994 2| 13| 2 o W B e 32 5100 130 29.70 52 5.7 40.1 25
12 1994] 4| 18] 9| 354 A R L 32 4801 130| 2850 10.8 33 384 25
13 1994 4| 30| 12 28 e I 2 e P 31] 1740 131| 34.50 48.0 6.0 144.6 20
14 1994 10| 5[ 12| 15 FLAL 1 0 31 19.60] 129 10.00 6.7 50 112.2 25
15 1995 3 o 9] 22 F2E 2K I 7 b 31| 57871 130 226 9.5 4.1 20.5 24
16 1995 3| o 23 37 ORI A b 31| s824] 130 278 14.8 35 20.5 21
17 1995 3] 71 1f 20 W3 I 7 5 i 31 s823] 130 249 113 4.4 20.7 23
18 1995 6| 18] 10] 10 P P 1 e 31] 59.201  129| 13.84 17.0 4.3 92.3 25
19 1996 10 18] 19] 50 r.p - 30 30| 34.54] 131 11.83 37.7 6.4 169.2 20
20 1996 10| 19| 23| 44 1 1] 31| 4792 132 050 340 69 172.2 20
21 1996 12f 3| 7| 17 H I;.mﬁ-[ 31| 46.19  131| 40.83 380 6.7 141.3 20
22 1997 3] 26| 17| 31 TR U | G 31| 5837 130 21.54 119 66 223 23
23 1997 3| 206 18] 5 JE W B AL G 31 35840 130 2384 13.0] 406 25.0 23
24 1997 3| 20| 22| 24 I U Sy L A G 31 5863 130 26.10 93 4.7 28.1 24
25 1997] 3| 26| 22| 48 B .‘ A G, 31| 59.01 130]  19.40 95 34 209 24
26 1997 3| 31| 9 4 LLL, 1A G 3 31| 5961 130] 17.63 8.1 3 203 24
27 1997 4 3| 4| 33 PR VAL e L |L|5L‘.\ 310 5822 130) 1932 14.8 5.7 19.7 21
28 1997 4| 3| 35| 13 B W R IR AL T 31| 59551 130f 17.19 8.5 32 19.9 24
29 1997| 4| 4] 2| 33 AL 31 57.65[  130] 23535 14.3 48 23.8 22
30 1997] 4 5] 13| 24 w I B ML Y ‘.L 31 5821 130] 2422 12.0 5.2 253 23
31 1997 4 9] 23] 20 4 W 3 I L PG 31| 5841 130] 24.66 10.5 5.1 26.0 24
32 1997 4 o 23] 22 I*L"L’.L‘,“ Ae L 31| 5845 130 2545 9.0 4.7 27.1 24
33 1997 4] 15| 9| 33 U e B AL G 31 5962 130] 17.06 8.8 3.2 19.9 24
34 19971 5[ 3] 8| s0 JE U e L G 32 0.01 130| 16.17 9.0 3.5 20.0 24
35 1997 5| 13| 14| 38 B U R ML P 31| 5690 130] 18.16 9.2 6.4 16.6 23
36 1997 5| 14] 8| 32 U I I L 31 s56.16]  130] 20.65 8.9 5.1 18.5 23
37 1997 5[ 251 6| 10 R VD ey L G 31| 5731 130[  19.03 8.1 4.4 18.1 24
38 1997 of 27 14| 12 U Sy I A P 31| 5673 130 2270 8.7 4.1 21.7 24
30 1997 7| 26| 18] 36 U I b G 31f  s8.26]  130] 26.18 9.1 3 27.9 25
40 1997] 11 11| 21| 41 A VA ey WAL T 31 58771 130[ 12.04 10.2 3.0 16.3 22
41 1997] 12| 14] of 8 o m,]—[. 31 5081 130 17.82 6.8 2.8 10.2 2
42 1997] 12| 14] o] 18 P B IR T 31| 5070 130| 17.77 77 3.4 10.1 2]
43 1997] 12 251 of 17 T ] ‘,‘[, 31| 5032 130 17.50 7.0 3.9 9.6 22
44 1997] 12 25| 18] 38 B I WA VG 31| 5037]  130| 17.49 6.6 32 9.6 2
45 1998 1[ 10| 14| 1 U e I G 31 s0.20] 130 17.49 6.9 3.7 9.6 22
46 1998 11 10] 14 2 FEE VA B W G 31 50.26 130 17.34 7.4 4.2 9.4 21
47 1998 3] 3] 8] 30 A g A 31| 5083 130 17.70 7.1 3.7 10.0 22
48 1998 3] 3 16| 39 1 b PG 31 50790 130] 17.56 7.8 3.8 9.8 21
49 1998 3] 27| 15] 30 J'L‘,m.:ﬂh‘ e 31 5822 130| 2759 8.1 4.4 29.7 25
50 1998 3] 27] 15] 32 B U Jots U G 31 ss21] 130 27.90 9.7 4.2 30.1 25
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No. w= B e s i 4y i 43 (km) A(km)

51 1998 4] 13| 13| 36 HEE U I I b VG 31 51.03 130 18.00 6.8 3.6 10.6 22
52 1998] 4] 15| 11| so W W 7S 31 so87  130] 1736 91| 34 9.8 19
53 1998 4 18| 1| 21 B AL 9 31 51.03 130 17.65 23 35 10.0 19
54 1998] 4| 20[ 10| 49 B U B W AL V8 s 31 58.35 130) 2883 9.2 4.3 315 25
55 1999 1] 12| 0| 45 : 31 51.10 130 18.15 7.3 3.5 10.8 22
56 1999 4| 3| 3| 44 FEE L By N [L[’HHE; 31 5727 130] 18.95 8.1 4.3 18.0 24
57 19991 7| 31 7| 55 KA K 1Y ;‘,WF' 31 57.81 130( 10.20 10.3 4.0 14.6 21
58 1990 11] 20| 18] 45 T A e I G a1l 5292 130] 1819 K 3.0 12.0 21
s0 | 2002 7| 3| 6| s6 B W P 31 4913 130[ 1530 78] 25 6.3 17
60 2003 3 12 8 8 LM P4 ph 31 55.90 1301 1074 9.5 2.9 11.0 20
61 20031 4| 12] 13| 28 W DA B b T 3 59.83 130 15.80 10.3 4.9 19.5 23
62 20031 4| 12] 19] 28 M AL 32 0.54 130] 16.10 11.5 3.5 209 23
63 | 2003 4] 13] 1] 38 A 2] 052 130] 1613 TEIEE 20.8 2
64 20031 6| 16] 191 7 JE W s R AL 3 50.18 130 17.12 13 28 9.0 21
65 | 2003 7| 30 23] 3 U oy | 31 4979 130 16.98 74| 26 8.8 20
66 2003 11] 30| 11| 27 I gy A e 3 5851 130 2000 97 34 20.8 24
67 | 2003] 11] 30 12| 45 W R L G 31| ssas|  130] 19.83 10.1] 48 205 23
68 20031 11| 30) 12| 49 T U B L A v 3 58.59 130 20.36 9.8 2.8 213 24
69 2004 12 12| 14] 28 JLH P P4 i 3 46.01 1291 10.87 14.7 34 95.8 23
70 2004 12| 13] 7| 33 LI P P4 i 3 45.57 1291 11.10 16.2 4.9 95.5 23
71 2004 12| 14 2| 27 LM 7 e 3 45.44 129 9.62 18.8 5.3 97.9 23
72 | 2005 1] 3] 4] s ¥ 1 7 31 5756 130]  7.83 96| 3.8 15.1 2
73 2003 3| 20] 10 53 LML 74 th 33| 4435 130[ 1058 92 7.0 2114 25
74 2006 2| 41 0Of 11 F 32 5.00 120 52,79 11.6 5.1 40.4 25
75 | 2006] 12] 13] 6| 44| gyt s 32| 812 130 2273 73| 38 38.0 25
76 2007 2| 10| 5| 35 AR 31 57.74 130 8.73 6.5 32 14.9 24
77 2007 6] 30| 16| 8 PR B 04 K 31 4441 130 0.06 11.0 32 20.7 23
78 2007 7| 6| 16| 355 |,‘.‘, i o r‘, 15 H5 i 31| 4444 130 003 11.7] 34 20.7 23
79 2008] 3 3 21 4 P 2 7Y O 31 1333 129]  49.66 9.5 4.3 76.0 25
g0 | 2008] 12] 13] 21] 32 m s ,L,; 15 A 31 2208 129 2718 114 44 86.9 o5
81 2008 12| 14| 20f 28 R 31 5722 130 8.09 7.1 a5 14.4 24
82 2010{ 1] 25| 1of 13 Fo R W H 301 35246 131 9.03 48.7 54 140.2 20
83 | 2010] 11| 13| 16| 24| gVl ket 31| ssa1] 130 25.40 87| 3.4 26.7 25
84 20101 11| 26f 8] 39 [ P 24 0 1Y 31 28.91 129 4745 124 4.0 54.3 25
gs | 2011] 5| 29] 5] s [V P8 4 1 5 31| 37.06]  120] 3587 72 43 60.9 25
86 2011) 10 26 6] 58 AL I P 31 5824 130f 2545 8.1 3.9 26.9 25
g7 | 2011 1| 2] 17| el miw g mogk s 31| ssa4a]  130] 2551 88| 3.4 272 25
88 2012 6| 26| 17| 27 JEE WL s KL e P b 7 32 5.09 130 32.56 7.2 3.0 435 25
89 20120 7 26f 2] 20 fili - Jels 30 30 59.75 130 27.15 130.9 4.7 96.1 12
90 20121 8| 17 8| 46 PR 32 3.85 129 59.95 10.5 4.9 314 24
o1 | 2014] 3| 14| 2| o [T 33| 4150] 131] 3348 780 6.2 260.5 20
92 2014 8 291 4] 14 H ri 4k 32 8.47 132 8.73 18.2 6.0 187.9 23
93 20141 12 19 12] 34 Kook 32 2.34 129 50.88 12.7 4.1 39.6 24
o4 | 2015 2| 26| of 30| vk 2] 6sol 130 975 9.6 3.0 30.6 25
95 20151 5| 30f 20] 23 NI B 74 271 5165 140|  40.95 681.7 8.1 1104.7 17
96 2015 7 13| 2| 52 K G R i 32} 5956 131 51.31 58.0 5:9 202.6 20
97 | 2015] 10| 3| 4] o v g iiperan 32 410 130] 1236 86| 4.1 26.1 25
98 2015 11 14 35| 51 o 5 25 5 18 7 o 30| 56.59 128| 3540 17.0 il 181.4 25
99 2015) 11] 15] 4| 20 [ P2l 15 7 31 19.83 128 43.04 9.4 5.9 150.5 25
100 | 2015] 11] 18] 13] 38 R 16 75 7 31| 2060 128 4014 76| 50 154.3 25
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No. ’-r.t_L I-II HI--I T i B i I T | & ms/}} K | M| Facom | A
101 | 2016] 4| 14| 21| 26| e AmsdE A A 32| 4450 130] 485 4] 65 1164 s
102 | 2016] 4 14| n| ] manmesw s 32| 4305 130] 46.06 17| 49 112.2 25
103 | 2006] 4] 14| 2| 7| ¢ s 32| 4633 130] 5097 83| 58 121.6 25
104 | 2016 4| 14 22| 3% A H 7 32[ 4061 130] 4411 il so0 106.7 25
105 | 2016 4] 14] 23] 43 32| 46.02) 130] 49.64 142 51 119.7 25
106 | 2016] 4] 15| o] 3 32| 4204 130] 46.66 67| 64 111.0 25
107 | 2016] 4] 15| o 6 32| 4170] 130] 45.15 05[] 50 1093 25
108 | 2016] 4] 16| 1] 25 IRTE; 32| 4527 130] 4578 23] 73 115.5 25
100 | 2016] 4] 16] 1] 30 At 32| 3899]  130] 4254 o] 53 102.9 25
110 | 2016 4] 16| 1] 44 32| 4519 130] 45.69 152 54 1153 25
11 | 2016] 4] 16| 1] 43 2| 5179 130] 5304 106] 59 1323 25
112 | 2016 4] 16| 2| 4 32| 4478 130] 443 23] 49 113.6 25
113 | 2016] 4] 16| 3| 3 32| 5783 131 521 09| 59 151.1 25
114 | 2016] 4] 16] 3] 33 3| 159 131] 1146 109 58 1624 25
115 | 2016] 4] 16| 9| 48 32| 5082 130/ 5010 159] 54 127.8 25
116 | 2016] 4] 16| 16] 2 32| 4195 130] 43.20 23] 54 108.2 25
117 | 2016] 4] 16| 21| 3 32| 45.00]  130] 4531 176 44 114.9 23
118 | 2016] 4] 17] 10] 39 32| 3339 130] 4234 83| 41 93.8 25
119 | 2016] 4| 18] 20 41 il 33 o2 131 1199 86| 58 160.7 25
120 | 2016] 4] 19| 17] 52 I 32| 31| 130 3812 100 55 88.4 25
121 | 2016 4] 19| 20| 47 A7 32| 3431 130] 39.19 108 50 928 25
122 | 2016 4] 20 3| 38] ¥ o iy 32| 3ass|  130] 3875 11| 41 918 25
123 | 2016] 4| 28] 2| 38] mEANAEAKS 32| 3526 130] 4001 o8] 41 95.0 25
124 | 2016] 35| 6| 14| 11 T o 1 J 3| 560 129 173 106 5.0 1375 25
125 | 2016] 5| 7| 14| 42| g b 31 s 128 s958 65 55 140.1 25
126 | 2016] 5| 7| 18] 16|  wEsEmm s a1 asol 129] 096 134] 47 140.4 25
127 | 2006] S| us| 2] se]  mwmermmim 3| 527 129] 228 92[ 45 137.2 25
128 | 2016] 6] 12| 22| 8] meAnmEAKS 32| 2696 130] 4085 74| 43 823 25
129 | 2017 4] 29| 21] 32 e B 7 30| 4668 131 2898 438 56 169.8 20
130 | 2017 7] 11| 1] se i 31| 2304] 130] 37.20 102] 53 64.4 25
131 | 2017 7] 13| 4| 34| WV Wil ) 31| 1543 130] 3853 56| 34 76.9 25
132 | 2017] 7] 15| 7] 12 TV 31| 2325 130[ 37.06 92| 34 639 25
133 | 2017] 8| 4] 10| 12]  @esopknm hm 31| 3143 129 5045 73] 40 477 25
134 | 2007 8| 9| 5| 57| mEAULE G - i 32| 18] 130[ 2565 94 31 435 25
135 | 2017] 8] 24] 14] 34 T 31| 2267] 130] 3678 08| 44 643 25
136 | 2007 10| 22| 23] 24| peEesmm s 31| 4318 130] 642 60| 35 14.8 24
137 | 2007 ] 1 of 46 A 31 2399 130[ 36.80 90 38 626 25
138 | 2018] 2| 5| 11] 52|  Wulln NekEH 32| roa] 130] 1935 22| 30 24.0 23
130 | 2018| 4] 3| 15| 55 Kk 31 5735 130] 747 0] 3l 15.0 21
140 | 2018| 4] 10| 23| 24| @R Fhb o6 Aah 31| 1622 129 5850 74| 40 65.7 23
141 | 2018] 6] 3| 18] a1 = 31| 5753 130] 752 2| 39 15.2 21
142 | 2018] o] 12] 4] s4 B 97 31 1135 131 3357 81 56 145 4 23
143 | 2018] 7| 5| 23] s3] meAwiaw - At 32| 2739 130] 3279 112] 38 76.9 25
144 | 2019] 1] 8| 21] 39 fill 50t 30 3435 131] 97 301 60 167.8 23
145 | 2019 1] 25| 14| a1 V2 By 75 5 31 5109 129] 1077 69 46 957 25
146 | 2009] 4] 5| 7] 2 mmermm s 31 3688 130] 1465 100] 28 24.7 24
147 | 2009] s| 10| 7] 43 H 31 47.14] 131 3951 254] 56 170.7 23
148 | 2019 5| 10| g 48 H i 31| 4807 131 5847 355 63 169.0 23
149 | 2019] 12 26| 19] 53 K i 32 826 130] 3.9 84] 38 36.1 25
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Max=2.8(cm/s”)
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5. EL. 11.0m(NS) o §r L OmEW) o 5p EL1OmUD)
B @ E [
P B olRw E  ohPww
4 & : & [
= 2 E o 2 g =8 2
5. EL.-18.5m(NS) Max=2.0(cm/s’) = 5 EL-I8.Sm(EW) Max=12(em/s) 22 5 EL.-18.5m(UD) Max=0.8(cm/s")
' N
0 Hwr E 0 Ry E 0 pt
- 2 g -3 2 g 2
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' A
H Q B
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~ EL.-58.5m(NS) —— EL-58.5m(EW) — EL-~58.5m(UD)
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Max=13.5(cnvs’)

Max=11.6(cm/s")

Max-iG.D(cm/sz)

.~ 20 EL 11.0m(NS) .~ 20; EL 1LOmEW) .~ 20; EL 1.0mUD)
m @ A
£ E E
5 9 T ) 5o
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